
c) You have got £10. What toys can you buy? 

 individual solutions 

example: 

I can buy the inline skates.  

or 

 

I can buy  the skateboard, the helicopter and the lorry. 

or 

 

I can buy  the computer game, the doll, the lorry and the castle. 

 

 

d) You have got £12.50 What toys can you buy? 

 individual solutions 

example: 

I can buy the inline skates, the castle and the spaceship.  

or 

 

I can buy  the inline skates, the doll, the racing car and the ball. 

or 

 

I can buy  the skateboard, the computer game, the doll, the 

helicopter and the spaceship. 

 

 

 

 

 


